ER27FEEFE 2R (11 B) KIERESIEESMRER]

HEEBRUV 7 r— M EEER
kg E (REIZZESTIER(X. B5TH100% TIEELY)
EIZEH &5t Bt =g
RIBEREH 37| 28 =it For—bERE| A | B | &
EfFXZ AT 19 17 2 ERFXZ T 84% 71%|  100%
Rt 49— 18 9 9 Rt 42— 56% 33% 44%
For—rEEER =11 Bt =gk
Tor—rMREEHEE 26 15 6
EfFZ AT 16 12 2
Rt 49— 10 3 4
i i | 10 | 20/ 4K | 30/% K | 40i%fK | 5OREA | 60 [70BMAR~| REE 708 8% 605%
TUr—MREER A 26 0 0 0 2 2 5 17 0 = 19%
EfFXZAr 16 0 0 0 0 0 4 12 0 65%
Rt 49— 10 0 0 0 2 2 1 5 0

1 R=2



ER27FEEFE2RI(118) XE%HTE%%FE%_%%%%J
HEEBBRUV7 75— MEEER
FEEL =1 BTN BTSY | REIE BZEDH-oT-HX
Tor—rMREE#HEE 26 26 0 0
EfFXZ AT 16 16 0 O|ERE- ILERT- L FET-ZEAT- BT -FME
Rt 32— 10 10 0 O|EfFEHmE- - Big- BE-4£R
Fik % = FHE | SHE | BEE| EiE | | T | kEZE
For—rMREEHEE 26 0 2 3 6 13 2 0
E X 16 0 1 1 2 10 2 0
Rt 49— 10 0 1 2 4 3 0 0
éﬁ%@%ﬁi ax | BEALEL | BBEECES | TEOEABL | 20k | K
Tor—rMREE#HEE 26 24 0 0 1
EfFXZAT 16 15 0 0 0
Rt 49— 10 9 0 0 1

2 R—Y

FEFEL

Z Dtk

4% \ 2%
/_

BEX

11%

RinRRNEH
KEE




ER27FEEFE 2R (11 B) KIERESIEESMRER]

HEERRUVT 77— NERHRR

emmany, | A | £o) [mene| SRR O R0 \BELR| | ton | xme
FUr—MREERER 26 15 1 5 0 3 0 0 2 1
ERFXZFr (B EE) 16 8 0 4 0 3 0 0 1 1
Rt 42— (EHEE) 10 7 1 1 0 0 0 0 1 0

BH (BEAEH) B |prueru|bruviu| REIZ
TUor—MRHEHES 26 17 5 4 . . . . )
— A8 (B E) i (EREY)
E RT3 16 11 2 3 e
REE HEE
Rt 49— 10 6 3 1 15% 12%
by HiY
BEH@B=EXY) BE |prvetulbaicn| REE | z¢y 'If;
Tor—rMREERER 26 20 3 3| 19%
EfFXZAT 16 12 2 2
Rt 49— 10 8 1 1

IR—Y



ER27FEEFE 2R (11 B) KIERESIEESMRER]

HEEBRUV 7 r— M EEER
SHOBUERR | .o TH tB-%H \
5% ZOih |LOTH| kEE
(EREEHY) e | F | ®m | Fw | 52 | %
Tor—rMREEREE 31 5 1 3 13 5 3 1 0 0
EfFZ AT (EHEE) 19 4 0 3 10 0 1 1 0 0
Rt 2—(EHEE) 12 1 1 0 3 5 2 0 0 0
SR OBE B
B a3 ol ZE |awbor| xEE iEé‘*ﬂ . $E|&a>tr-
Tor—rMREE#EE 24 17 5 2 0 Y 3% B
8- 16% 3%
EfFZ AT 16 11 4 1 0 5 10% °
Rt 49— 8 6 1 1

4 R—=T



